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MODEL QUESTION PAPER -2
FOURTH Semester BE Degree (CBCS) Examination 2020-21

Additional Mathematics-II [ISMATDIP41]
Max Marks: 100

Note: Answer any FIVE full questions, choosing ONE full question from each module

1

a)

b)

Find the rank of the following matrix by elementary row Echelon form

0 2 3 4 ‘ ' '
A=|2 3 5 4 ] (D
4 8 13 12
Test for consistency and solve: ‘
x+2y+3z=144x+ 5y +7z2=353x + 3y +4z =21 (T™M)
1.1 3
Find Eigen values and Eigen vectors of the matrix A = [1‘ 5 1] (M)
W 311

OR
Fmd the Elgen values & the Eigen vector correspondlng to the largest eigen value of

the matrix A = [5 4] B
Apply Gauss elimination method to solve the system of equation: .
2x+5y+7z=52, 2x+y—z=0, x+y+z=09. S
Test for consistency & solve the following system of equations:
5x; + X, + 3% = 20; 2x; + 5%, + 223 = 18;3x; + 2x, + x3 = 14. (™)
The area of a circle(A) corresponding to diameter(DD) ié given below
D 80 85 90 95 100 ;
A 5026 5674 6362 7088 7854 (6M)
Find the area corresponding to diameter 105 usmg an appropriate interpolation formula.
Find the real root of equation xe* = 2, usmg N-R method correct to four decimal
I (7™)
places.
Evaluate f loge x dx taking six equal strips by applying Weddle’s Rule. (™™)
OR A
Using Regula — Falsi method, find the real root of the equation cosx = 3x — 1. (6M)
Find the number of men getting wages below Rs.35 from the following table: (™)
Wages (Rs) 0-10 10-20 120-30 30-40
Frequency 9 30 . 141135 42

Compute the value of fol.:(sinx —log. x + e*)dx by using simpson’s 1/3 rd rule by (TM)
taking 6 equal strips



8)

9)

10)

a)
b)

c)

a)
b)

c)

a)
b)

b)

Solve:(D3 + 6D? + 11D + 6)y = 0.

Solve: y" + 9y = cos2x.Cosx.
d?y
Solve: == — 4y = cosh(2x — 1) + 3%,

OR
Solve:(4D* — 4D3 — 23D% +12D +36)y =0

Solve: (D% + 4)y = sin’x.

Solve: y" + 4y' — 12y = e** — 3sin2x.

Form the PDE by eliminating the arbitrary constants, ax? + by* + z> = 1.

Form the PDE by eliminating the arbitrary functions, f (x% + 2yz,y* + 2zx) = 0.

a2 a 3
Solve: -ax—i_+ 3 -a—i- — 4z = 0 subject to the conditions that z = 1& g—z; =y whenx = 0.
OR
Form the PDE by eliminating the arbitrary constants: z = a log(x? +y%) + b.
Form the PDE by eliminating the arbitrary functions, ¢(x + y+z,x2+yt—2z%)= 0.
. |

04z
Solve: e

multiple of T/, .

= sinx siny For which% = —2siny when x = 0'and z = 0 if y is'an add

Prove Baye’s theorem on Conditional Probability.

If A and B are events with P(AUB) = 7/8, P(ANB) = 1/4 and P(A) = 5/8 find
P (4),P(B) and P(ANB) : id

In a bolt factofy there are four machines A, B, C, D manufacturing respectively
20%,15%,25%,40% of the total production. Out of these 5%,4%,3%,2% are
defective. If a bolt drawn at random was found defective what is the probability that

it was manufactured by A or D?
OR

If A and B are any events of S which are not mutually exclusive then P(AUB) =
P(A) + P(B) — P(ANB)

Three machines A, B and C produce respectively 60%,30%,10% of the total number
of items of a factory. The percentages of defective output of these machines are
respectively2%,3%,4%. An item is selected at random and is found defective. Find
the probability that the item was produced by machine C.

The probability that a team wins a match is 3/5. If this team play 3 matches in a
tournament, what is the probability that the team

(™M)

M)

(™M)
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